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6) b in orig.
5) Blotted out note supplied by editor.
4) 1st 4 chords blotted out, supplied by editor.
3) Blotted out note su[[lied by editor.
2) Blotted out note supplied by editor
1) Chords in the remainder of this bar blotted out and supplied by editor.
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3) b on 4th course in orig.
2) Blotted out note supplied by editor.
1) 5 notes d in orig.
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2) d in orig.
1) Rhythm in these two bars ½ value in orig.
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2) Note off edge of page in orig. supplied by editor.
1) 2 bars replaced by one bar to fit passamezzo pattern. For original bars, see Appendix.
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1) Rhythm flag missing in orig.
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1) Rhythm flag missing in orig.
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2) Note one course higher in orig. (overstrike missing).
1) Note one course higher in orig. (overstrike missing).
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1) Note off edge of page supplied by editor.
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